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Instructions for the final discussion — framework and implementation

Version I and II

The students' presentations of the various solutions should focus on the following
questions:

* Do you think that this is a good way to solve the problem? Explain why!

* How do you think the student who solved the problem reasoned?

Final discussion

The students are given a few minutes to look at all the student solutions, even those that
were not treated. The teacher instructs the students to compare solutions and to find
other methods of solution (calculations, testing by trial, equations, figures).

» What similarities and differences are there between the various solutions? ol
* What advantages and disadvantages are there with the different methods? X
For version II the following questions can also be discussed:

* What would happen if the increase was different e g 20 %, 10 % or 100 %? ol
» What would happen if the price was decreased first? o
Version I1I

Students' presentations of the various solutions should focus on the following questions:
* Do you think that the solution is satisfactory or incorrect? Explain why!
* What is good or bad about the solution?

Final discussion
» Compare student solutions 2, 4, 5, 8 and 9. What similarities and differences

are there between the solutions? What differences in quality are there? o
* What happens if we instead have a 20 % increase and a 20 % decrease? o
* What happens if we have a 20 % increase and a 10 % decrease? o
* Is it possible to change the length and width by certain percentages so that
the area will remain unchanged? o}
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Information for students
This task is the oral part of the national test. This oral test is to be carried out in groups
of 3—4 students sitting together with the teacher around a table.

Each student receives a paper with information and a task that may be studied for a
few minutes to get acquainted with the problem. Then you will receive a paper with a
number of student solutions to the problem. Your teacher will tell you in what order
you will make your presentations.

Each student presents a student solution for the rest of the group. You should explain
why you think that the solution is acceptable or incorrect. After each presentation
your fellow students may ask questions, make comments and support or criticise the
presentation.

When everyone has made his or her presentation the group will be asked to discuss
some questions posed by the teacher.

Your performance during this oral test will be assessed on the basis of three aspects:
understanding, language and degree of participation.

To what extent you have understood the question, the concepts involved and the
quality of the different student solutions.

How clear your presentation is and how well you use mathematical language.

To what extent you participate in the discussion and can argue for your ideas and
make responses to the explanations of others.

Remember that this is an occasion for you to show your abilities both in your own
presentation, in the discussion after your classmates' presentations and in the concluding
discussion. Your achievement on this oral part is summarised and gives a number of g-
and vg points and you also have the opportunity to demonstrate MVG-qualities. The
result of this oral part is then combined with the results of the other parts of the
national test.
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Part A — Version I

Your oral test concerns this problem:

The price of a pair of skis is reduced by 40 %,
so that they now cost 1 800 kr. What did the skis
cost before the reduction in price?

Read through the problem. You do not need to solve the problem, only try
to understand it.

You will receive a student solution to the problem.
* Do you think that this is a good way to solve the problem? Explain why!
* How do you think that the student who solved the problem reasoned?

When your classmates have presented their solutions you may also have
opinions about the other solutions.
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Part A — Version I

First time

—

0401800 = 70
1800 + 740 = X520

Answer: 1he Slus cost 520 lr

2. /800
wo -7
4851100 = 47600 _
Answer: The stris ¢ ast 4500 ter

3 Price -40%

6000 3000

000 QY00 |

3000 /800 Answer: The skis cost 3000ULr

Y Oy 1800 = FR0
/800 - 720 = /1080

nswer: The stus cost /080Uy

S 0% of /800 ur /s /80 lur
Y% of '800ur 15 Y /80ur = P20 ur
1800 ur + RO Ur =QE0 v

Pnswer: 7he Skrs cpst 2820 br
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Second time

6.  You have 4o pay 60%
60% 1s /8004y
/% s L8590 1 = 304

100% 1s 10030 vy =30004uv
Answer: The Slrs (o8t 3000l

T 0 X
00 - /800

L0 x = /80000
<< 80000
bl

X =3000  Pnswer: The skis cost 3000kr

8. H0% = 0.4

OIL/ X = /300
<< 1800
oY
X = 4500 Auswer: The str's cost 75004

o The pree Is X ur
X" 0:‘/)( = /8’00

0.6 X =1800
ye 1800
06

X= 3000 Fnswer: The sirs et 3000uv

10. /800

%/y%é@eww

8000  Apswer: The Strs cost 3000k
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Part A — Version 11

Your oral test concerns this problem:

The price of a TV is increased by 25 %.
By what percentage must the price
thereafter be reduced in order that

the final price be the same as the original
price?

Read through the problem. You do not need to solve the problem, only try
to understand it.

You will receive a student solution to the problem.
* Do you think that this is a good way to solve the problem? Explain why!
* How do you think that the student who solved the problem reasoned?

When your classmates have presented their solutions you may also have
opinions about the other solutions.
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Part A — Version I1

First time

Y The TV cost 5000 b4r or'gimally

000 -
502 = 2500 R‘;"a = 1250

5000 + 1260 = 6250
650 = 5000 = IR50
1250 /S 5% of 5000

Answer: The price must be reduced by 257

>/ depends on what the TV costs,

becayse 2A5% of 10000 Lrrs move thar <5%
of X000 ur

Answer: /# cle 0ends on what the TV cost:

Y Suppose the TVcosts /000 yy
25% of /000 /s 250

The TV then costs /50 ir
L5 %% 0]‘ IR50 /5 3i2. 5ur

20%% of [250 /s 250

Pnswer Hou have +o yogye +he price by 0%

ApSMa04 8 Student material — For copying

© Skolverket



4.

The TV cost §000 ar
The price increqses by K000 lr
Then the price myst be reduced by oL 000 ler

L2000
— =), = 0250
2000 0,25 Yo

Answer i The prite must be reduced by QY%

[100% +25% = /125%
5% ~ 5% = [00% = +he or{"ﬁ/}n/pmt&.

Arswer i [+ must be veduced by the same

pereenioge.  as it was increqsed, that is,
by L 5%
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Second time

5 The price of e TVis 10000 kr

-/—017”-‘?-‘-’— = 2500  10000+2500 = /2500

/2 500
5

£ - 200
= 20%

Answer: The price must be veduced by 20%

= 2500 /2500-2500 = 10000

7. T I ITTTT YT
R e e e e Sl et Sl S
SN RaSSN TR 4
S iiSmiRans
+- — -
. S S S N e
NN . .. |
T p¥ee . T T T apze . |
ce T Ly
mswer: The price must be veduced by 0%
8 Hséume that the TV cost 1000kr; for simplicsty,
oy /0
W% =% 1900 5554,
1000 kv + 250 liv = 1250 4, /R 50 Ly = /009,
1280 ur - /¢ vy
/00 a/a ~/l’zc 5-0/(V = /0 7.2—3:—1‘—:—* = ,20‘7/0
Answer: The price nust be vegiyred by oL0%,
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Let us say +hat +he TV costs 10000 v

0000 /.25 = /2500
13500 = 10000 = 2500
L5 00
/12500
nswer: The price must be reduced by 207

= 0.

10 Firel the price was imcreqsed from 800y
70 1000 Ly,
Then +he price was reduced by x 7o

X /000
—_— = 00
/00 :
ox =400
x =d0

Aaswer: The price must be reduced by 0%

% Inital price a ur

Jncregse 5% (7rauw‘7’7 7/067‘0/ e
MNew price /.&5a

Decrease change /acfor X
Eguakon 7ZOV mikial orice [.dEq X =a

T
X= /. 25 —0,8

A decrease a/ /—0,8=0X=L0%
Prswer @ L0% reduchkon 1+ poniee
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Part A — Version 111

Your oral test concerns this problem:

The length of a rectangle increases by
10 % and the width decreases by 10 %.
Investigate how the area changes.

Read through the problem. You do not need to solve the problem,
only try to understand it.

You will receive a student solution to the problem.
* Do you think that this solution is satisfactory or incorrect? Explain why!
* What is good or bad about this solution?

When your classmates have presented their solutions you may also have
opinions about the other solutions.
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Part A — Version IT1

First time

1.
35cm Preq: 3,5 4.5 = 15,35 ® loem™

4.5 em

New Ienjhfo’ b5+ 0% = 495 ¢m
Vew width: 3.5 =0.35 = 3,15 cm

J.i5cm Grea; 4,95 « 3./5= /5, 5925 # [beni

4,95 cm
Bnswer: The areq will be the samwme
2.
2
24 emi™ Hem 3. Foem | 3.bcm

Aenjhf: 6°01=0b b+*0b=606
Width: “4:0.1= 0,% Y=-0,4=3,6

Gnswer: The area wiy) be smaller
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(cm)
The arvea; 35 =15

Increased the lenght by 107
and reduceq +he width by 0%

o, ?

The area: 2,7 5,5 = /4.85

Answer: Whether +he aweq Wi
become /a(je/ or smallev

a’epends on e original /e/?jhfs
of the 3ides

4. Ex?

Exd

dem decreases by (0%

§em increases by 0%

The aveq: 8:-5= ’7’0cm°1

hfter increase, decrease
The aveai 8.8 4.5 239, 4 ¢p?

|

Lem decveases by 10%

0em rncreqses by 10%

The areq:

After in crease, clecreqse

The area! |1:/,¢ = /9,6cm'7'
In ex 7a1d X we
have decve qseqy

102 = 26 ent

S5€ee thal bott }"CC/Ol?j/C,S aveq

Zn ex 7 from 4pem? 4o 396 i and
n ex 2 from 20enit o /9.8 cni

Pnswer: The Greq becomes Srnafler

Ap9Ma04
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Second time

> Rectamgles with Side lengths  Bfter decreqse | incvease

/255 A=J25 2.25-55 A= 12,325
L. 35 A=15 2.7-55 A=17385
S 45 A=20 Je6-55 FP=19.8
7. 5 A=30 4566 H=R97
2. b'F  P=42 5473  A=H58

Prswer: The avea will always
become smalier

6 Sine the lenght Increqses by /0%

and +the wig+h de creqses by 0%
the area by of course pe the same.

Meregse —decrease cancel oyt

caah otney.
Answer: The areq Wi
be the same.
7. /e ng ht +/0%
-7
l
[
Width ,'
|
_________________ |
~/0% ?/7'%
dlsa/Opcars

Fnswer: The areq will be Smalley

Ap9Ma04 15 Student material — For copying

© Skolverket



[/ x

v =

The areq Ky /-/K'0.9y
0.99 Xy

Fnswer: The area ) qlways be
% smalfey.

0.77

Rectansle T MNew rectanqle
2 3 _ 7 2 —Lz.g- = Oqu
7:85=20em 36:55=/98cm ;:c;n

Sb=l8eni 27667 1R82enmt L2 04

585 a8cm 45555 297508 215 <099

[10= [0chi  0.9))2 §9¢,R 99 . 99
K 2 /0
6:3= 18cm 54-3,3=1782¢m 17,5 = 0,99
18 - v

finswer: The new recrangle will
always be /% smafier than
the oviginal one.
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